
 
 
 

 
 

 

 

 

 

 

1. Aim/Overview of the practical:  
 
Write a program for BFS and DFS. 
 
Solution –  
 
CODE IN TEXT- 

#include<iostream> 

#include<vector> 

#include<queue> 

#include<stack> 

using namespace std; 

 

void edge(vector<int>adj[],int u,int v){ 

 

adj[u].push_back(v); 

} 

 

void bfs(int s,vector<int>adj[],bool visit[]){ 

 

queue<int>q; 

 

q.push(s); 
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visit[s]=true; 

 

while(!q.empty()){ 

 

int u=q.front(); 

 

cout<<u<<" "; 

 

q.pop(); 

 

for(int i=0;i<adj[u].size();i++){ 

 

if(!visit[adj[u][i]]){ 

 

q.push(adj[u][i]); 

 

visit[adj[u][i]]=true; 

 

} 

 

} 

 

} 

 

} 

 

void dfs(int s,vector<int>adj[],bool visit[]){ 



 
 
 

 
 

 

stack<int>stk; 

 

stk.push(s); 

 

visit[s]=true; 

 

while(!stk.empty()){ 

 

int u=stk.top(); 

 

cout<<u<<" "; 

 

stk.pop(); 

 

for(int i=0;i<adj[u].size();i++){ 

 

if(!visit[adj[u][i]]){ 

 

stk.push(adj[u][i]); 

 

visit[adj[u][i]]=true; 

 

} 

 

} 

 

} 



 
 
 

 
 

 

} 

 

int main(){ 

 

vector<int>adj[5]; 

 

bool visit[5]; 

 

for(int i=0;i<5;i++){ 

 

visit[i]=false; 

 

} 

 

edge(adj,0,2); 

 

edge(adj,0,1); 

 

edge(adj,1,3); 

 

edge(adj,2,0); 

 

edge(adj,2,3); 

 

edge(adj,2,4); 

 

cout<<"BFS traversal is"<<" "; 



 
 
 

 
 

 

bfs(0,adj,visit); 

 

cout<<endl; 

 

for(int i=0;i<5;i++){ 

 

visit[i]=false; 

 

} 

 

cout<<"DFS traversal is"<<" "; 

 

dfs(0,adj,visit); 

 

} 

 
 

 

 

 

 

 

 

 



 
 
 

 
 

Code in compiler -  

 



 
 
 

 
 

 



 
 
 

 
 

 



 
 
 

 
 

 



 
 
 

 
 

 



 
 
 

 
 

 
 
OUTPUT  -  
 

 
 
 
 
 
 
 
 



 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


